Have .a go .at these:

Do the hest you can do. hLIW;u
Use .a written .method.

12 X 4 =
354 + 427=( )
L65 - 263 =

2674 + 3542 =

486 - 339 = ()

/ﬁ? 56 X 4 =]
| N

L 368X 6=

Ph 53627 + 3479k = ()
7348 - 3984 = ()

H ol at

Do the hest you can do. hjo’”'gmgm
Use .a written .method.

345 + 236 = (D
1875 - 353 = ()

- 62 X 4 =(_)
7)) k364 + 2475 = ()
1746 - 263 = ( |

362 X 8 =| )
2739 + 384 + 25 = ()
8077 - 3835 =(___ )

Day 2
02.02.21




H Yol at
| right -

Do the hest you can do. . <
Use .a written method.

/ 35 X 3=
337 + 525 = ()

584 - 237 = ()
/-—;; 46 X 6 = ()
7/ 3487 + 735 =(__)
7644 - 326 = D
_ 386 X 9 =1 )
K 7396 + 6847 = ()
9312 - 4748 = ()
H.anve YolleVe, ot these:
Do the bhest you can do. h;ﬁ;ﬁ

Use .a written .method.

/ 36 X 4 = | )
334 + 286 = ()

868 - L24 = |

Pilexe- )
./ 6546 + 2829= ()

Day 3
03.02.2]

What is the difference hetween 6847 and 2265

()

s What is the product of 673 and 8 ()

PA. 5938 + 684 + 93 = ()
4060 - 1832 = ()



Have .a YeVe, at these:

| Dxuat 5
.o AL CAUN ) | right -
TR rosssgoni 05 02.9]

L2 X 3 =
/ 43CI+12
652 - 32
/-.;3 326X4—©
/ What is 27, 32 and 146 altogether
734 - 456 = ()

= 376 X 8 = ()
K What is 391, 658 and 7 altogether ()
6037 - 269 = ()




